API NO. 15- 203-201290000

STATE CORPORATION COMMISSION OF KANSAS OIL & GAS CONSERVATION DIVISION UFIL COMPLETION FORM

WELL COMPLETION FORM	County Wichita
ACO-1 WELL HISTORY DESCRIPTION OF WELL AND LEASE	C _E/2 - NE - SE sec. 26 Tup. 20 Rge. 35 x W
Operator: License # 31093	1980 Feet from SN (circle one) Line of Section
Name: Becker Oil Corporation	330 Feet from (E)W (circle one) Line of Section
Address 122 E. Grand, Suite 212	Footages Calculated from Nearest Outside Section Corner: NE, (SE) NW or SW (circle one)
City/State/Zip Ponca City, OK 74601	Lease Name Brack Well # 1 Field Name White Woman NE
Operator Contact Person: Clyde M. Becker	Producing Formation
Phone (_580)765-8788	Total Depth 5100' PBTD
Contractor: Name: Cheyenne Drilling	Amount of Surface Pipe Set and Cemented at307Feet
License:05382	Multiple Stage Cementing Collar Used? Yes X No
Wellsite Geologist: Clyde M. Becker, Jr.	If yes, show depth set Feet
Designate Type of Completion X New Well Re-Entry Workover	If Alternate II completion, cement circulated from
OilSWDSIOWTemp. Abd.	feet depth to w/ sx cmt.
Gas ENHR SIGW X Dry Other (Core, WSW, Expl., Cathodic, etc)	Drilling Fluid Management Plan D&A JH 1-2-98 (Data must be collected from the Reserve Pit)
If Workover:	
Operator:	Chloride contentppm Fluid volume600 bbls
Well Name:	Dewatering method usedevaporation
Comp. Date Old Total Depth	Location of fluid disposal if hauled offsite:
Deepening Re-perf. Conv. to Inj/SWD Plug Back PBTD Commingled Docket No. Dual Completion Docket No. Other (SWD or Inj?) Docket No.	Operator NameLicense No
11-17-97 11-24-97 11-25-97	Quarter SecTwpS RngE/W
Spud Date	County Docket No
- Room 2078, Wichita, Kansas 67202, within 120 days of the Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information on 12 months if requested in writing and submitted with the months). One copy of all wireline logs and geologist well MUST BE ATTACHED. Submit CP-4 form with all plugged we	side two of this form will be held confidential for a period of e form (see rule 82-3-107 for confidentiality in excess of 12 report shall be attached with this form. ALL CEMENTING TICKETS lls. Submit CP-111 form with all temporarily abandoned wells. gated to regulate the oil and gas industry have been fully complie
Signature Wyll M. Bleck	/ K.C.C. OFFICE USE ONLY
<u> </u>	F Letter of Confidentiality Attached C Wireline Log Received Geologist Report Received
Subscribed and sworn to before me this 11th day of Dece 19 97	Distribution KCC SWD/Rep NGPA
Notary Public Maxine Holme	KGS Plug Other
Date Commission Expires11-14-2000	STATECO

**Form ACO-1 (7-91)

			ctor wo		. 1	د."	, 23
Operator NameBe	cker 0il Co	rporation	SIDE THO	Bra	ıck	Uall#	1
	_	_	Lease Name	Wich	ita	_ werr w _	
Sec. 26 TMP. 20	Rge. 35	East West	County				:
INSTRUCTIONS: Show interval tested, time hydrostatic pressures if more space is need	e tool open and , bottom hole to	d closed, flowing a emperature, fluid red	nd shut-in press	sures, wheth	er shut-in pres	sure reac	hed static level,
Drill Stem Tests Take		X Yes No	X Log	Formation	n (Top), Depth a	nd Datums	
Samples Sent to Geolo	ogical Survey	🛚 Yes 🗌 No	Name B/Anhyd		Top 2267		Datum +898
Cores Taken		Yes X No	Heebner Marmato		3968 4508		-803 -1343
Electric Log Run (Submit Copy.)		X Yes No	Morrow St. Gen		4857 4923	}	-1692 -1758
List All E.Logs Run:	DIL & DNL		St. Lou	is	4977		-1812
DST 4582-620' t OCM + 358' Mdy SIP 1140-1120#							
		CASING RECORD	□ New □ Us	ad			
	Report al	l strings set-conduc	tor, surface, in	ntermediate,	production, etc		
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weight Lbs./Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
Surface	12½	8 5/8	24	307	60-40 Pos	225	3% CaCl
	ADDITIONAL CE	MENTING/SQUEEZE REC	ORD				
Purpose:	Depth Top Bottom	Type of Cement	#Sacks Used	Type and Percent Additives			es
Protect Casing Plug Back TD Plug Off Zone							
Shots Per Foot		RECORD - Bridge Plu e of Each Interval F			Fracture, Shot, d Kind of Mater		
	·						
TUBING RECORD	Size	Set At	Packer At	Liner Run	☐ Yes ☐	No	
Date of First, Resu	med Production,	SWD or Inj. Prod	ucing Method F	lowing DPL	mping Gas L	ift 🗆 o	ther (Explain)

DAA

Vented Sold Used on Lease (If vented, submit ACO-18.)

Estimated Production Per 24 Hours

Disposition of Gas:

Oil NA

Bbls.

METHOD OF COMPLETION

Gas 🔏

Water/ N A

Mcf

Other (Specify) _

Bbls.

Open Hole Perf. Dually Comp. Commingled

Gas-Oil Ratio

Production Interval

Gravity

ORIGINAL

DRILLERS LOG

BECKER OIL CORPORATION BRACK #1 SECTION 26-T20S-R35W WICHITA COUNTY, KANSAS

15-203-20129

COMMENCED: 11-17-97 COMPLETED: 11-25-97

SURFACE CASING: 295.91' OF 8 5/8" CMTD W/150 SKS 35:65 POZ + 6 % GEL + 1/4#/SK

FLOCELE.

FORMATION DEPTH

0 - 320
320 - 4130
4130 - 4620
4620 - 4630
4630 - 4745
4745 - 4890
4890 - 5030
5030 - 5100 RTD

I DO HEREBY CERTIFY THAT THE FOREGOING STATEMENTS ARE TRUE AND CORRECT TO THE BEST OF MY KNOWLEDGE AND BELIEF.

CHEYENNE DRILLING, INC.

WRAY VALENTINE

Wray Vale

STATE OF KANSAS: ss:

SUBSCRIBED AND SWORN TO BEFORE ME THIS 2ND DAY OF DECEMBER, 1997.

JOLENE K. RUSSELL

NOTARY PUBLIC

STATE

DEC

Ċ.

ALLIED CEMENTING CO., INC.

P.O. BOX 31 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566 ORIGINAL

INVOICE

Invoice Number: 076535

Invoice Date: 12/02/97

Sold Becker Oil Corp.

To:

1641 California, #410

Denver, CO 80202-3704

Cust I.D....: Beck

P.O. Number..: Brack #1 P.O. Date...: 12/02/97

Due Date.: 01/01/98 Terms...: Net 30

Item I.D./Desc.	Qty.	Used		Unit	Price	Net	TX
Common		135.00		SKS	7.5500	1019.25	E
Pozmix		90.00		SKS	3.2500	292.50	E
Ge1		4.00		SKS	9.5000	38.00	E
Chloride	nately.	7.00		SKS	28.0000	196.00	E
Handling		225.00		SKS	1.2000	270.00	Ε
Mileage (60)	e description	60.00	1900	MILE	9.0000	540.00	E
225 sks @\$.04	per sk	permi					
Surface	West Con-	1.00	and the same	JOB	560.0000	560.00	E
Extra Footage		12.00		PER	0.5000	6.00	E
Mileage pmp trk	1 9 °	60.00	the property	MILE	2.8500	171.00	Ε
Top wood plug		1.00		EACH	45.0000	45.00	E
Baffle Plate		1.00		EACH	135.0000	135.00	E
		2 1 1 2 1 2 1 2 1 2 1 2 1 2 1 2 1 2 1 2					
All Prices Are 1					otal:	3272.75	
Date of Invoice. 1 1/2% Charged Thereafter. Tax: If Account CURRENT take Discount of \$ 490.9/ Payments:					0.00		
					ents:	0.00	
ONLY if paid wit	thin 30	days from I	nvoice	Date Tota	11:	3272.75	

STATE CO:

nggi0N

DEC 1 5 1807

Cua . Commence devictor

ALLIED CEMENTING CO., INC.

P.O. BOX 31 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566

ORIGINAL

INVOICE

Invoice Number: 076586

Invoice Date: 12/03/97

Sold Becker Oil Corp.

To: 1641 California, #410

Denver, CO 80202-3704

Cust I.D....: Beck

P.O. Number..: Brack #1 P.O. Date...: 12/03/97

Due Date.: 01/02/98 Terms...: Net 30

Item I.D./Desc. Qty. Used	Unit Price	Net :
Common 141.00	SKS 7.5500	1064.55
Pozmix 94.00	SKS 3.2500	305.50
Gel 12.00	SKS 9.5000	114.00
FloSeal 59.00	LBS 1.1500	67.85
Handling 235.00	SKS 1.0500	246.75
Mileage (60) 60.00	MILE 9.4000	564.00
235 sks @\$.04 per sk per mi		
Plug 1.00	JOB 580.0000	580.00
Mileage pmp trk 60.00	MILE 2.8500	171.00
Dry hole plug 1.00	EACH 23.0000	23.00
All Prices Are Net, Payable 30 Days	Following Subtotal:	3136.65
Date of Invoice. 1 1/2% Charged The	reafter. Tax:	0.00
If Account CURRENT take Discount of		0.00
ONLY if paid within 30 days from In	voice Date Total:	3136.65
	·	